Adding Mixed Numbers

32422 =
4 8

1. Dolneed acommondenominator?
e Yes, becausel can’t add fourths to eighths. But|
know that4 and 8 arein the same factfamilysol

can multiply Z by 2to get g.

32x2=3242.=
4 2 8 8

2. ladd, workingfromrightto left.lcan setupmy
problem vertically or keep it horizontal.

e First, add thefractions. 6
6+7=13, the 3=
denominator never 3
changes when we are 7
just adding! Next, add
the whole numbers + 2—
3+2=5. Altogether we 8
have5 § WE AREN’T £ 13
DONE! 8

3. Finally, I mustfix the improper fraction!
13 8

8 8
55+8—6
8 8
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